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Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. W8l ¥lal @scl.

Most commonly used semiconductor material is

(A) Silicon

(B) Germanium

(C) Mixture of silicon and germanium

(D) None of the above

Alell Ao A atuRaHl wiad Asesse: H2RaA

(A) R8s\t

(B) wHlA=un

(C) RASlet U R aume] A1l

(D) GURall A5 UL ot8l

The process of adding impurities to a pure semiconductor is called
(A) Mixing

(B) Doping

(C) Diffusing

(D) None of the above

g AHsos522 H2 A Sl ARl YBaua 9 sdcudi wa &
(A) Bz

(8) S\atL

(C) YU

(D) GURall A5 UL L8l

Which of the following is not an essential element of a dc power supply?

(A) Rectifier
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(B) Filter

(C) Voltage regulator

(D) Voltage amplifier

ol AUHiYl 88 As SRl loy Yasl M2 s dec otell
(A) A Hl2AR

B) (3R

(C) AR RansisR

(D) Al ArclglaR

The 78XX series of voltage regulators produces an output voltage that is
(A) Positive

(B) Negative

(C) Either positive or negative

(D) Unregulated

AR RJAeR ol 78xX ARl 5 wBaye AR W
(A) WAl

(B) adéla

(C) WAldla waucl adelat

(D) WRRJALS

A transistor when connected in CE mode has a

(A) low input resistance and a low output resistance

(B) high input resistance and high output resistance

(C) high input resistance and low output resistance

(D) medium input resistance and high output resistance

As 2leBeR AR CE RAQAHL ASlAA & U

(A) AL Bolye ARAUSAL W 19 ABaY2 AW ANUSAL
(B) dy 8o1ye WaRUSAL Wl dy wG2ye ARAUSAl

(C) Ay Belye AAJAUSAL ol WS wUIGaY2 AcRUSAL
(D) HEAH Botye AcRAUSAL ol dy uB2Y2 AN USAL
The emitter of the transistor is generally doped the heaviest because it
(A) Has to dissipate maximum power

(B) Has to supply the charge carriers

(C) Is the first region of transistor

(D) Must possess low resistance

2leBeRell AMe? [Qrcllr Aot A R Aslld B st ¥
(A) HeTlH WAR €2 5 8
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(B) U 3R Al 59 ©

(C) A 2Bl YUH (AR B

(D) 0l YlAslRel YAA B

The use of a capacitor filter in a rectifier circuit gives satisfactory
performance only when

(A) load current is low

(B) load Current is high

(C) load Voltage is high

(D) load Voltage is low

syl ABeul AR (3eeell Gualal AAUSRS yeld U »UR
(A) IR Yalle AL &l

(B) GUR Yclle duUlR 8l

(C) MR Al aulR sl

(D) AR Al AL &l

A virtual ground

(A) is a ground for voltage

(B) is a ground for both voltage and current
(C) is ground for current

(D) is a ground for voltage but not for current
aRjuet UGS W@

(A) e M2 UGS

(B) R A Yallg olal M2 As WES
(C) Yclls M2 UGS

(D) A% HI2 UGBS B, U Yalls M2 UGS ol
Write the output of IC7915.

(A) + 5V

(B) — 5V

(C) + 15V

(D) — 15V

IC7915 of B2y Aull.

(A) + 5V

(B) — 5V

(C) + 15V

(D) — 15V

One input terminal of high gain comparator circuit is connected to ground
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and a

sinusoidal voltage is applied to the other input. The output of comparator
will be a

(A) Sinusoidal

(B) Full rectified sinusoid

(C) Half rectified sinusoid

(D) Square wave

G Aol 510322 UGzl As olye 2(lotct UGS WA BSIAA B e
ool UBAWNSSAH ARy UA ASIAA B. s1UReR UlFeal wGaye 9
)l

(A) ABA[NSSAH

(B) Yl A58 ABAUNSS

(C) wdydl Asesl8s UBANS

(D) AR™U 3L

SMPS stands for

(A) Source Main Power Supply

(B) Switch Mode Power Supply

(C) Simple Mode Power Sensor

(D) Swiss Module Potential Supply

SMPS o yul altdt

(A) WA Yo waR Al

(B) RAx s WaR Al

(C) RO RAA WaR AR

(D) RA Wsyet Aeldd YReasl

In LED, light is emitted because

(A) Recombination of charge carriers takes place
(B) Diode gets heated up

(C) Light falling on gets amplified

(D) Light gets reflected due to lens action
AABSIHL Uslal olelR $s12 B, sl0L 5

(A) WS 3Raell g3l slstauell

(B) stals ok acdl

(C) Uslal Uscl d adfl &

(D) Aot (Bl 51201 ustal YA aL &

The maximum voltage across pin 8 of IC555 is
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(A) 5V

(B) 10V

(C)15V

(D) 18 V

IC555 ofl Mot 8 UR MeTH AR 32Cl &
(A) 5V

(B) 10V

(C)15V

(D) 18 V

Formula to calculate time constant in monostable multivibrator using 1C555
is

(A) 1.4 RC

(B) 0.693 (R,+R;) C

(C) 1.1 RC

(D) 0.693 (R,+2R;) C

Ic555 Heel Ml M@ AR MR A QA Hej YA
(A) 1.4 RC

(B) 0.693 (R, + Ry) C

(C) 1.1 RC

(D) 0.693 (R, + 2R;) C

Write the output of IC7805.

(A) + 5V

(B) — 5V

(C) + 15V

(D) — 15V

IC7805 of ulBaye AWl

(A) + 5V

(B) — 5V

(C) + 15V

(D) — 15V

Which one is not semiconductor?
(A)Germanium

(B) Diamond

(C) Silicon

(D) Gallium Arsenide
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% As AHlsos522 aell?

(A) Hlan

(B) SLaAHS

(C) RAls\

(D) AAan wUoueSs

Most commonly used transistor circuit arrangement is

(A) Common base

(B) Common emitter

(C) Common collector

(D) None of the above

AU AHLeA A clURAHL Al el Ule AUl 58 B
(A) SlHot A

(B) S\t WMeR

(C) slHat sAseR

(D) GURall A5 UQL o18l

In a bipolar junction transistor the base region is made very thin so that
(A) Recombination in base region is minimum

(B) Electric field gradient in base is high

(C) Base can be easily fabricated

(D) Base can be easily biased

As Bydl ofsael 2R Ul A [QRARML el % Uldy] ool B, Rl
(A) s3lell sialtoll 2l A% (Arctul Al wUa

(B) A2 (ArcMl dloy &t 3l AR wal

(C) A% (AR AR AU watcll asla

(D) A% AR A sl 31 st

In CE configuration, the output V-I characteristics are drawn by taking
(A) Ve versus I for constant value of I

(B) Ve versus | for constant value of I

(C) Ve versus I for constant value of Vg

(D) None of these

CE Sloi(39222letMi, A1B2ye V-1 cleldlsdl 58 A ElRclHi WA &
(A) Ve Aal 1, A, I ofl Aun BHd 12

(B) Vg Ul I, A, I, ofl AU [SHd 12

(C) Vg ¥al I AR, Vg ol AN (HA HIR2

(D) As ULl o8l
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For transistor action

(A) the base region must be very thin and lightly doped.

(B) the emitter junction is forward biased and collector junction is reverse

biased.

(C) the emitter should be heavily doped to supply the required amount of
maijority carrier

(D) all of the above.

elee (Baw we

(A) A2 (AR Yol o Uldol wal &g MASllcd Slall A,

(B) M2 os2ol SRaAS cllaud B e sASR As2ct Ral ollad B

(C) AR U 3R2aRell cget M2 WM2R 52t ay RSl AeSA

(D) GURell cAHIH.

The |- V characteristic solar cell lies in

(A) | quadrant

(B) Il quadrant

(C) Il quadrant

(D) IV quadrant

-V AlRl@scl AR ACtoll 52Ul AWML @ B

(A) 1 A0

(B) Il AL

(C) 1 ARL

(D) IV uRRL

Due to depletion region of PN junction, diode has

(A) Atoms

(B) Mobility charges

(C) Immobile charges

(D) Velocity

UL At s2letil (31A20t QR 5120, slals WA g all

(A) AR

(B) A s

(C) RAR ¥

(D) Aol

The pentavalent impurities like antimony added to intrinsic semiconductors

are

called

7/22



23

24

24

25

25

26

(A) Acceptor or P-type impurities
(B) Donor or P-type impurities
(C) Acceptor or N-type impurities

(D) Donor or N-type impurities

Al Uoll Bl Wozldde (el GARAEl vlotcdl WidRs AR sos52A

9] sdallHl wA B

(A) llsiRatR waal Ul ysirk wg)sll

(B) Elcl waal Ul ysirk ug)(sll

(C) cll51Rat1R WUl Aol YSIR Y (&A

(D) Elcll WUl Aol YsIR WY (Sl

At room temperature a semiconductor material is

(A) Perfect insulator

(B) Conductor

(C) Slightly conducting

(D) All of these

AURSloll AUl Alsos5eR HARaA 9 ©

(A) Yal AUcles

(B) dles

(C) Ud% LSl

(D) GUR A AHIH

The sensitivity of a photo diode depends on

(A) Light intensity & depletion region width

(B) Depletion region width and excess carrier lifetime
(C) Excess carrier life time and forward bias current
(D) Forward bias current and light intensity

glal stalls ofl AAgatalletal Aol UR AUUR AW &
(A) ustal dldcl wal (3raaet [QraRell udlous

(B) (31Q2let [QrcllRoll USlOUE A Ay clss Wclol AHA
(C) AUsAY clles Walol UHA Al FlRAS slAR Yald
(D) $lRad ol yate Al ysialell dladt

The trivalent impurities like boron, gallium are added to
semiconductor to form

(A) N-type semiconductor

(B) P-type semiconductor

(C) A junction diode

intrinsic
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28

29

29

(D) All of these

Rt Aol N[AaH Ball glaudde wWY(ex GRc] olotdl MidRs
AN sos52a 9 sdallHl WA &

(A) Aot YsiR A|s05522

(B) Ul ustk AHlsoss2?

(C) *s2at SlAS

(D) GUR AU MM

The working of PN junction semiconductor diode is

(A) One way

(B) Two way

(C) Three way

(D) None of them

UL Aot os2lel AHs05522 stallse] stalell Rau s¢ B
(A) As 8l

(B) A sl

(C) 2L A%l

(D) GURall A UQL o8l

When the two input terminals of a differential amplifier are grounded
(A) The base currents are equal

(B) The collector currents are equal

(C) An output error voltage usually exists

(D) The ac output voltage is zero

AR B3eRac Arcllglaredl A goiye eMotet ABs WA SlscuHi wa
R

(A) A% Yalls AMlal @ 8B

(B) $As2R Yclle UHlal % B

(C) AHLA IA UBaye R Ay Rl UAA B
(D) A 2Beye Al o % B

Which of these is the best description of a Zener diode?
(A) It is a rectifier diode.

(B) It is a constant voltage device.

(C) It is a constant current device.

(D) It works in the forward region.

ol Aot HIYl Rot? SRS HIZ s A cdBlel B

(A) A As2sl2AR sLAs BD.
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33

(B) d AUN Al@» Anclclle] Ulal 8.

(C) A AUJUN Yalls Raclall] Altat B.

(D) A SRAS cllAUHL sIH 52 B,

Used as an amplifying device

(A) Diode

(B) Gang Capacitor

(C) Transistor

(D) Resistor

53] GUsL ARAlSlAR 33 caltuRaHl A B
(A) SLlS

(B) oL 3URe?

(C) 2R

(D) ARAY

The arrow direction in the diode symbol indicates
(A) Direction of electron flow.

(B) Direction of hole flow (Direction of conventional current)
(C) Opposite to the direction of hole flow

(D) None of the above

stalls yclsui el (2 (Bau g yua ®

(A) 8As2et Yclls (Zau

(B) Sl yells (Ball ( URURLLA dcdMist (Bau )
(C) 8t yealgall [Q3g (2o

(D) GURall A5 UQL o8l

The resistive value will be changed when light falls to
(A) VDR

(B) LDR

(C) Thermistors

(D) Diode

usial UR Ud B R YldRlus (Bud aecudl
(A) VDR

(B) LDR

(c) ured

(D) slals

When the diode is forward biased, it is equivalent to

(A) OFF switch
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35

36

36

(B) ON switch

(C) High resistance

(D) Infinite resistance

AR SAS SRaAS oA SlA B, AR A 58 A siH 52 B
(C) vl u

(B) oitl 2l

(C) G AU

(D) WIQct AU

The voltage across the Zener resistance is usually
(A) Small

(B) Large

(C) Measured in volts

(D) Subtracted from the breakdown voltage
UM A Dot AR oll e

(A) ollo]

(B) Hg

(C) clled HiuelHl

(D) AssIGet clcee Ul wientsl sl

P-N junction photodiode works as

(A) Reverse biased

(B) Forward biased

(C) Switched on

(D) Switched off

Ul Aot ofs2let Sl stlls 3 stal 82 O

(A) Radl st

(B) slRad ollax

(C) Rau ug

(D) RAU oiu

The barrier potential of silicon PN junction diode be
(A) 0.7V

(B) 0.8V

(C) 0.1v

(D) 0.3V

R@AS L Ast. o520t slsall ARAR WR[RAAA Jedl sl &
(A) 0.7V
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(B) 0.8V

(C) 0.1v

(D) 0.3V

Which of these diodes is used in seven segment display?
(A) PIN diode

(B) Photo diode

(C) LED

(D) Tunnel diode

Al oo (SAUL s SlAsell GUAdL Al § ?
(A) Rt sts

(B) 82l stalls

(C) Actssl

(D) 2alc slAls

A forward potential of 10V is applied to a Si diode. A resistance of
1 kQ is inseries with the diode. The current is

(A) 10 mA

(B) 0.7 mA

(C) 9.3 mA

(D) 1 Ma

10V SRa$ WA As Si SlASa AUAA B. 1kQ oll A5 AR A
stalls WA ARMHL 3 8, Al Yalls el ®

() 10 mA

(B) 0.7 mA

(C) 9.3 mA

(D) 1 mA

Zener diode is connected in

(A) Forward biased

(B) Reverse biased

(C) Both the bias

(D) None of them

Bl SlaAlsal sAL GlLAUHL SIstallHl ud &

(A) SRAS sl

(B) Radl sllat

(C) olal cllaA™

(D) As U@ atgl
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42

43

In a full wave rectifier, the current in each diode flows for
(A) Whole cycle of the input signal

(B) More than half cycle of the input signal
(C) Half cycle of the input signal

(D) None of these

AYEl dRoL Ase gL, €35 SIASHL yals 58 I ad
(A) Botye Udclotl B USHL

(B) 8otye Udcloll AU US sl Ay
(C) Bolye ABcloll AWSUL UASHI

(D) atel

The term ‘transistor’ is made up from

(A) Transfer + thyristor

(B) Transfer + rectifier

(C) Transformer + resistor

(D) Transfer + resistor

oE ' 2l ' 3l A clollatalt i AAA
(A) 2lodR + AR

(B) 2leR + BslaR

(C) 2lersR + AP

(D) 2R + Adex

A transistor has

(A) Two PN junctions

(B) Three PN junctions

(C) Four PN junction

(D) Two PNP junction

As 2leBeR o Fel %5l B

(A) A ULAat. 52

(B) 2.l Ul At o520t

(C) AR UlAet. %520t

(D) A PNP %82l

The input stage of an op amp is usually a
(A) Differential amplifier

(B) Class B push-pull amplifier

(C) CE amplifier

(D) CC amplifier
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44

44

45

45

46

46

UM A OPAMP of Bolye sl dssIHl sl

(A) B%eRact ArdlsiaR

(B) sl ol yau yat Ancllsiar
(C) CE AncllslaR

(D) cc AnAlstar

Solar cells operate in

(A) Forward bias

(B) Reverse bias

(C) No bias

(D) None of the above

AAR AA Sl GlLAYHL SIH 52 O
(A) 8lRAS cllad

(B) Rarl ollat

(C) As URL oLl o8l

(D) GUR Hiell As uwl el
IC741C has

(A) A voltage gain of 100000

(B) An input impedance of 2 MQ
(C) An output impedance of 75 Q
(D) All of the above

IC741C Hl

(A) 100000 oll 2 Aeel

(B) 2 NOUMEH ol Betye sUS
(C) 75 O ol WBeYye 8UsU
(D) GURlSA M

The depletion region within a PN junction is reduced when the junction has

(A) Zero bias
(B) Forward bias
(C) Reverse bias

(D) All of these

2R UL Aol A5otoll (S1A2U6t [QRARML LLSl U B, AR %520l 9

ola

(A) Yot GlLAY
(B) slRa§
(C) Rarl st

14/22



47

47

438

48

49

49

50

(D) GUR AU dHIH

When a reverse bias is applied to a diode, it will
(A) Increases the potential barrier

(B) Lower the potential barrier

(C) Increases the majority-carrier

(D) None of these

2R Slallsal (RaRl ol UMl AL, RUR
(A) delQd AU auR B

(B) detldd waAY U2 B

(C) Hlel YHIRHL Hel W - cles oll AR
(D) AL Hidl As el o8l

The maximum efficiency of full wave rectification is
(A) 40.6 %

(B) 100 %

(C) 81.2 %

(D) 90 %

AYel R0l Aseglaue{l HedH stletudl

(A) 40.6 %

(B) 100%

(C) 81.2%

(D) 90%

The basic purpose of filter is to

(A) Minimize variations in ac input signal

(B) Suppress harmonics in rectified output

(C) Remove ripples from the rectified output

(D) Stabilize dc output voltage

($ceRall Yooy &

(A) A Bolye ABAHL AWl QAU el
(B) Asestess uBayeHi stlllsu ealctal 12
(C) Asestss wGeyeuidl Ruct g sal U2
(D) Sl wBeye AR RAR scll HI2

A voltage regulator is a circuit which

(A) Converts the ac voltage to dc voltage

(B) Smoothens the ac variation in dc output voltage

(C) Maintains a constant dc output voltage
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51

52

52

53

53

(D) None of the above

AR [AaHtsR Ul5e ©

(A) SIl Ao w2 AL ARy JUloct? 53
(B) Sl wBaye Al@wHl A dslada AN $2
(C) AU Sl wWBeye ARx sna B
(D) GURall A5 UQL ol8l

Which rectifier requires four diodes?

(A) full-wave bridge circuit

(B) full-wave voltage doubler

(C) half-wave voltage doubler

(D) Voltage multiplier

sell Asegl2AA AR SLAS %33 B?

(A) Ayl dRaL (oo u(Se

(B) YLl dRol Al@R¥ SHAR

(C) AUSUL ARl A% SHUAHR

(D) clce® 2JuLs

Write the full forms of LED.

(A) Light Emitting Diode

(B) Liquid Emitter Diode

(C) Low Emitter Device

(D) Laser Emitting Device

AASSoj Ayel ol el

(A) clge AMERaL stals

(B) [Aas MR slals

(C) A AMe? [Bausu

(D) QAR AMRat Beus

Which of the following is an active device?
(A) An electric bulb

(B) A diode

(C) A BJT

(D) A transformer

ol Aol Higll ulsa GusL % B?

(A) BAs il

(B) sLals

(C) ¥s BJT
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55

56

56

57

(D) 2lodslHR

To detect when the input is greater than a particular value, use a
(A) Comparator

(B) Clamper

(C) Limiter

(D) Relaxation

AR Boiye AlssA (BUA 5l AR slal R ual 12, 3 Gualawl
ad

(A) 510322

(B) SQLIUR

(c) cll{le?

(D) RAsA2lat

UPS is

(A) A power supply unit

(B) An information supply unit

(C) Input memory

(D) Cooling fan

JUlAU 9 ©

(A) cllor Yyasl AsH

(B) MUl Y3l wsal Asu

(C) 8alye ANl

(D) s(@ot unl

The arrowhead on the transistor symbol points in the direction of
(A) Electron flow in the emitter region.

(B) Minority carrier flow in the emitter region.

(C) Majority carrier flow in the remitter region.

(D) Conventional current flow in the emitter region.

2leBe el Ucdls U ARROWHEAD 58 (2lell A€ 52 B
(A) 8AR A2 QAR RS $3 B

(B) HIAol31El 3RaUR AMeR (AR g 52 B

(€) AR 3R AMeR (AR dAR% R B

(D) URURLLA Yells WM [ARAR dRs dd B

For an NPN transistor in normal bias

(A) Only holes cross the collector junction

(B) Only majority carriers cross the collector junction
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60

60

(C) The emitter junction has high resistance

(D) Emitter junction is forward biased and collector junction is reverse
biased

UM GRAUHL A5 NPN 2B HI2

(A) I 8ldt 5AS2R 52Ut UR $2 8

(B) $5ct N3 o BRaUR sAS2R %520t UR 52 D

(C) AMeR Asotoll MY dy &

(D) WUMeR Aset RS wlAU B Wal 5AS2R A'5et Rl vl
LEDs are fabricated from

(A) Silicon

(B) Germanium

(C) Si & Ge

(D) Gallium Arsenide

AASS| saul Helacdl ool

(A) Rclslat

(B) sHlAAn

(C) Si Aol Ge

(D) AAuH uAeuess

The majority charge carriers in the emitter of an NPN transistor are
(A) Pentavalent atoms

(B) Trivalent atoms

(C) Electrons

(D) Holes

NPN 220l AMe QrctxHi AZE wes clss sl slal ®
(A) Uoald@od AR

(B) 2lAAAcR AR

(C) 8ASAA

(D) 8lct

Write the full forms of LCD.

(A) Light Collector Diode

(B) Liquid Collector Device

(C) Light Common Device

(D) Liquid Crystal Diode

AAALS1of Ayel ottt cAul.

(A) clse sAs2R slAlls
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62

62

63

63

64

(B) @QGAs sAse [Sausu

(C) clese slHet (Scusu

(D) [AAs (sect slals

In a Zener diode

(A) Only the P-region is heavily doped

(B) Only the N-region is heavily doped
(C) Both P and N region are heavily doped
(D) Both P and N region are lightly doped
Rot stAlSHL

(A) 85 Ul QR ay Aslld &

(B) $5c Aol [ARcllR ay RSl B

(C) olal Ul el Aot QR ay Aslld &
(D) ol Ul Aal Aot (ActlR A§ Al &

Zener diode, when used in voltage stabilization circuit is biased in
(A) Reverse bias region below the breakdown region.
(B) Reverse breakdown region.

(C) Forward biased region.

(D) Forward biased constant current mode

Dot stalsal AR ARy RARAL UB2ul GuAdL salMl A AR sl
ollluHl B

(A) A5S1Gat Aol o{lA Rel ol yial.

(B) Radl AssiGal Yal.

(C) SlRad ol yeal.

(D) SlRad ol HAUN Yol HS

The threshold voltage for IC 555 is

(A) Vee/3

(B) 2Vce/3

(C) Vcc

(D) O

IC 555 HI2 JACs AR d2cll B

(A) Vee/3

(B) 2Vce/3

(C) Vce

(D) O

An ideal op-amp is
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66

66

67

67

(A) voltage controlled current source
(B) voltage controlled voltage source
(C) current controlled current source
(D) current controlled voltage source
As wled OPAMP

(A) AR @RARAA yas Bd &
(B) Al [RAR ARy Ad B
(C) yelle [RRARA yeus B B
(D) Yellg (AR e Al &
Solar cells provide electrical power at
(A) Low cost

(B) High cost

(C) Low installation cost

(D) Low operating cost

AR Ad Qg Al Yl uld ®
(A) Al €R

(B) Ay €

(C) AUl UM WA

(D) Al AU WL

The opamp can amplify

(A) AC signals only

(B) DC signals only

(C) Both ac and dc signals

(D) Neither ac nor dc signals

Ul OPAMP 9] ALAsLA 53] A%
(A) HoL AR{ Rostet

(B) Hat Sl Rostct

(C) A A Sl vlal Roetcd

(D) A wA Sl Anxiell As uRl RocA o8l
An inverter converts

(A) AC to DC

(B) AC to AC

(C) DC to DC

(D) DC to AC

s Focle 9 JUAR 52
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68

69

69

70

70

(A) A o Sl:ll

(B) Al of Al

(c) sl 5 sl:ll

(D) Sl of AR

When the diode is reverse biased, it is equivalent to
(A) OFF switch

(B) ON switch

(C) High resistance

(D) Infinite resistance

AR SIS Ra ol QA B, AR A ¢ 3 s1d 52 B
(A) yleA w[lu

(B) ol (lu

(C) GRRUL AR

(D) WIQct AR

The depletion region within a PN junction is increased when the junction
has

(A) Zero bias

(B) Forward bias

(C) Reverse bias

(D) All of these

2R UL Aol A52otoll (S1AAA [QReARML AR A2 B, RUR %520l 9
olal

(A) 2ot tlA

(B) slRad ol

(C) Radl st

(D) GUR AUUA AHIH

Which of these diodes is used for Oscillator?

(A) PIN diode

(B) Photo diode

(C) LED

(D) Tunnel diode

URARR ML sl Sl Gulol A & ?

(A) Rt st2ls

(B) slel stalls

(C) Assl
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